xfat

steish

B+

27t

ol
Z|M| & 8/10(#) 8/11(2}) 8/12(%) 8/13(8) 8/14(a =AM &2 8/15(E) 8/16(Y) 212
0 TR =
a=s 270m P 2Yis2ass e alntel 2y =S 252 ZOAHAT)
cle Bty Lt s2ot o o <dBRY | C| 6] 4 a5 | 6
<Hd 271> x A BRI () (*H) Holch(l) c
W o - 47| TV O El T
MA AZE oS 2tA(RH) AHA
40 4 ||
7% 714
B OBS ‘5A <OF&!>(Xpaf,4=0{2ts) B 2coim olchst Xt .
Xt E <Ohets> (RH)
g T 2Rz SRR 21 0] 3tolof 5| . o 5| g |
Bt p cHRAE B | — ]
=
pAYSE=]
A 2 3 2ot et <7bE>(XH)
RS a=2 8 ootz | ase wslem Aot eg HALEE(R) ) .
1 9 ZHERA|ZH(Y) <MA 9 A=> o) oM EHT|> F2 TV — 9
50 (HH)
15 IENSEITREPI 15 = Xt catop 23
cajot 3 15 e s 15 JENSEIES Y
Eatop SE) PN E2tor S () A2 (X af,
10 <U2>(") Pui <Z2>(™) PEN <dF2>(H) 10 2 m——— e B
TE> o LR Z4 XAl
B 10:50 o= i o“T: [l.ﬁ
o oy MAE
S 25
30 320 oto coL =3
30 11 P 1
11 e S =1 40
>0 %0172 E &
[=:1) N
e olafolE AE2) 2 <4 2> SHE(Rf)
12 N e e) 12| ¥ e e |12
50 () 2N 2 el SLSE
o —
21 0| gto|of ZHERAIZH <0]Z{0| 21>
=52 MR B (Rpats}ois)Ad)
1 (=) 1] 30 5|1
- ﬂ
F2{7|Tv<otet A7t — =] EF E|
37|V 14,10” i Fai7[TV 2/%] 2roj= He g
<A}B|7} 222> i <ozt A7H7H> » <M|AH el H=> 2
30 2 2
2 o OBS HAEH 40
c = HSM AT
IEH ENM
20 o=z =19
X 3 OBS A|u|OF 3
3 N 0BS Aluo} 8
. . <YMCA <Fel>(H)
<EERSNA> I <HsARMTA> | <2|X| 2po|m> <HE > OFC> (XH)
20 i (I
4 30 OBS rASH BE H0| H4 =t I OBSHA <ZoIEg{A> 4 asl o 1o S ig 4
= oz 0BS A|uOF
OBS 4 <95> MA AEs EDEA) [
OfSatA ALA e 30
30 J207ke 5
30 5
5
g g o OtAIOLE 27| SEOIS . S EE ST TCE
<M|AH o AZ%> o () =2 gAY A Jm————— il
20 ()) (Rt} ot Hel &) 2 e =°T 0 | 6
Ble| |4 6
Sa 3% syCHR sytHR
CRRES <HEA 15> <= 285>
30 30 |7
30 7
AT . OBS ZASA 55
0BS HAZA
10
8 259 YE F& 8 » |8
40 55 2909 SA
=53t Ao 72 OjEH7te
10 SA H7)1819|
MA HEE otEats 9 JUIETE=RS _ 9
9 40 Rt 55 EHZ AER
+5
SA =2k 0]0F7] BBC 7|3 = e SE: e EgetolE Ei 5
AT 2 <8 2> SoeliEd=p e e EEEEET) I
10| 3 LEED> - (R4 S ) 10 10
OBS A2}l OIM-Z 7| OBS Al4|OF OBS A|u|OF
T <&EZ> <EA|E>
Xt Xt
JEH EM —
11 waria Lagnigp [ €3=S9 L g 11
ExFH ool =& p=> COFROrS s OBS AldOF | A 90'=> 105' 50 A
5 T <YMCA 10| 126"~ 135' IE H71H9
B EYTET) OBSATEAP 2 OfHEk> B NEE=E "
5 = (=N ul | I
12 <010 21> fﬂ " YEIHET | 100 110 12 OIAO|E AE7] () 45
) <2hE>(XH) 2455
THE A2 10 2|X| 2to|=
THE| 22 () <E2.5.24>(7H) 1 2A0IE 7| (=) 1
i i . 40
' <EEEYE> | <=EAgHEM> | <@x oz, (2530 <M A c
C 55 =S8 2 i ' C
()
5
EE TSV E PN ,
2
2

40




	8월 2주_2

